A & ol & AF Y E A A
2017HE £Z13 DEAY
T oMYA
o BN Y
B AU (ol & @
[o] 0]
200 AI2I%2 32,197,871 11,454,014 20,743,857
210 &MY 19,827,738 11,454,014 8,373,724
211 A Th4 10,326 22,414 £12,088
211-02 TRMLAHE 10,326 22,414 £12,088
XA T 10,326 22,414 £ 12,088
= 0f & 10,326 22,414 A 12,088
OBRMY MBE 10,326,000 10,326
212 NEESY 872,960 802,975 69,985
212-08 JIEtAIEE 872,960 802,975 69,985
HERED 872,960 802,975 69,985
= 0f & 872,960 802,975 69,985
ONYS ZYXNDX MBE 369,716,008 369,716
OUZES ZYXMDX MBE 452,185,008 452,185
OANEZE 2EXDX AMBE 51,059,008 51,059
214 A 18,841,452 11,415,937 7,425,515
214-02 =34 11,499, 152 11,415,937 83,215
= XEALA T 11,499, 152 11,415,937 83,215
= 0f & 11,499, 152 11,415,937 83,215
OBYFNUE =123 11,499, 152,000 11,499, 152
214-09 JIEFAS 4 7,342,300 8,275,445 £933,145
HERED 7,342,300 8,275,445 £933,145
= 0f & 7,342,300 8,275,445 £933,145
ODYE YXADAU HASHL BOHLY
2 7,342,300
7,342,300,0002
215 W4n=2349Y 30,000 30,000 0
215-01 H4ane34Y 30,000 30,000 0
DEALD 30,000 30,000 0
=0 & 30,000 30,000 0
OZADSNERYS 2RI4 DFI
1,000,000, 000! *3/100 30,000
216 Ol Xt4 ¢ 73,000 40,000 33,000
216-01 ZZ0IZ0I K+ 60,000 40,000 20,000
DEALD 60,000 40,000 20,000
= 0f & 60,000 40,000 20,000
OLSALSHESH ZT0S 01X+
60,000,00084 60,000
216-06 JIEFOI Xt 4 13,000 15,663 A2,663
EXAL D 13,000 15,663 A2,663
= 0f & 13,000 15,663 £2,663




09 e 0z

N2l

=R E

OlRt =& (B9 ®R)
OANEZ2IBS Aol et oK+ (Fx
49 DEFBHE 0210 RS L2
13,000,000% 13,000
220 AAE A2l % 12,370, 133 3,285,000 9,085,133
222 23 3,813,000 3,135,000 678,000
220-02 LWL 3,813,000 3,135,000 678,000
DENYD 3,813,000 3,135,000 678,000
=0 4t 3,813,000 3,135,000 678,000
OnsswRe:a 4,100,000, 0002 3% 3,813,000
223 HHSYBEHNES 4,314,000 351,000 3,963,000
223-01 BAZ 108,000 108,000 0
ERER 108,000 108,000 0
=0l 4t 108,000 108,000 0
onz2 10,0008 9021 128 108,000
223-05 DIENZ 4,206,000 3,967,000 239,000
HEREY 282,000 243,000 39,000
=0l 4t 282,000 243,000 39,000
OMATEXZ BEHE 50,0002 +45021 122 270,000
ONZEXY HATIE DR
50,0002 2021 122 12,000
EXNE D 3,924,000 3,724,000 200,000
=0 4 3,924,000 3,724,000 200,000
OSHZIIAY SET BEE
40,0002 *94,50021 3,780,000
OBEZ AQABEE 30,0008 * 4,80021 144,000
224 JIEHS 133,133 92,292 40,841
224-06 19l %l 133,133 92,292 40,841
DEANAD 5,000 0 5,000
=213 ( 5,000) | ( 0)| ( 5,000)
OZADEANLRHYS 282 A2 B
Zy3 ( 5,000) | ( 0)| ( 5,000)
5,000,0002!
HERSD 128,133 92,292 35,841
=0 4 92,292 92,292 0
OBYXDN M 4,812 29
92,292,002 92,292
=313 ( 128,133) | ( 92,292)| ( 35,841)
OZYRDX MI 45 82 +¢
128, 133,0002 | ( 128,133) ( 92,292) | ( 35,841)
225 XHOIE 4 4,110,000 3,186,000 924,000
225-01 XHeIE4g 4,110,000 3,186,000 924,000




A BN
B AANEMALY
8 AdeiE4g (£ &2
= Oll &F o & 0 & =
EN-F- 285 2 mon) (I o) Hns2
DEANLD 200,000 150,000 50,000
=04 200,000 150,000 50,000
ORSERYTEI 200,000,000% 200,000
HEDS D 690,000 140,000 550,000
=0l 4 690,000 140,000 550,000
OXNDNSTHA ASLSY 2IIIA BHLAl
o ZR A 550,000
550,000, 0002
OHAREXZ D 50,0008 *1,00021 50,000
OARE 2 40,000
50,0002 +80021
onzz 100,000 50021 50,000
=X E D 3,220,000 2,896,000 324,000
=P 3,220,000 2,896,000 324,000
OSYZIIL JEE DHE
40,0009 +80,50024 3,220,000
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0
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o
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04 rx
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)

& 0 &
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A

S AL Dt
MJAD otMsh NES#E TH(+SLWE/HEWE - EFSIIH)
SousEl BUALS(REANY) SRR
CH .S (3A) - NEAY - BAS (X o) o) s
= AbES 0t 13,259,283 10,653,295 2,605,988
= 0
Xl 42,000
= 89,500
Al 13,127,783
AMUD OHME NSSHE T4 (3L uUS/HEUE 13,165,379 10,571,411 2,593,968
23 SIIE)
= 0
Xl 42,000
& 89,500
Al 13,033,879
WERLFES 2N (NSAY) 72,960 69,774 3,186
NsRLREI FRd > 72,960 69,774 3,186
101 o124l 36,980 35,134 1,846
04 JI2ZtHZ22NHSE* 36,980 35,134 1,846
= 0l & 36,980 35,134 1,846
CQuEsgREas XA JIZHM22X
ol Al 27,538
-JI2= 6,4703 *BAl 2t*14H »30L 21,740
- Fe¢ 6,470 *8A| 2t x14H »7 = 5,073
—x=g 6,4703 x8Al 2Hx14H » 1Y 725
OUSRYRES SEI M JIAHIZ 2R
MEUF 3,321
—-JIE2= 780& *BAl 2+ x14H 30 2,621
-5 7803 *BAl 2t x14H »7 612
— XY 7803 xBAl 2tx14H » 1Y 88
CQuEsYREas XA JIZH22X
S8z 3,335
—=304H3 32,483,000& *45/1,000 1,462
—H22d 32,483,000& x30.6/1,000 994
—LOoXINQQYEBE 994,000 *65.5/1,000 66
- NE2d 32,483,000& *15/1,000 488
—MHEH 32,483,000& *10/1,000 325
CQuEsYREs N=UHA JIZHZ22X
ol A Hl 2,486
—Ji2=s 6,470 *8Al 2+ x4 H 10 2,071
—F5Y 6,470 *8A| 2t x4 H x2=F 415
CQueEesgREs NZUA JIZPMZ22 X
ME= 300
-JI2= 7803 x8Al 2tx4H x10Y 250
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EX: WEAISE I}
M. FAJUD NS NEEH === BmE=yau ==am] FESI|EH
S Blst DEMH 29 (usS (e &
- - - oH & S T 0] AFoH =
A3 .2 (3 H oH.HYS o) (7] & oK) Hnsz
03 ANBF=XHRFZ 5,800 0 5,800
= 0l & 5,800 0 5,800
On St ol A~ CHH & 5,800,000 5,800
NsEUSHH 29 4,017,007 3,495,179 521,828
307 QI2t0| A 4,017,007 3,495,179 521,828
05 CItRIEZ 4,017,007 3,495,179 521,828
= 0l & 4,017,007 3,495,179 521,828
OnNsdEHE |AEAEH 4,017,007,000& 4,017,007
2ol wELet 29 169,172 164,479 4,693
307 QI2t0l A 169,172 164,479 4,693
05 CIt®IEZ 169,172 164,479 4,693
= Ol & 169,172 164,479 4,693
O0elolnSLiet |EAEH 169,172,000 169, 172
CHols 2213tliet 22l 46,960 61,980 A 15,020
201 B4 46,960 61,980 A 15,020
02 =524l 46,960 61,980 A 15,020
= 0l & 46,960 61,980 A 15,020
ORDE H(D B ZH S,
I3 40,000& *250H = 12& 12,000
ORolus tt=x(2 ?leh) &yl &I
2 A 34,960
—OJls SAlx=z 2,290,000& *x2CH 4,580
—Jls 12 2,080,000& =144 29,120
— b5 H=EEY| 1,260,000& = 1CH 1,260
CHols 223toiet & Xl 407,916 483,456 AT5,540
401 AlEHIZ20iH] 407,916 483,456 ANT5,540
01 Al&HI| 405,000 480,000 A75,000
= 0l & 225,000 480,000 A 255,000
Of0nsE o ( BHYZH| & X
45,000, 000& *5JH A~ 225,000
=413 405,000) | ( 225,000) | ( 180,000)
OR0olus o (u BH) A dl A X
45,000,000 «90H & | ( 405,000) | ( 225,000) | ( 180,000)
03 AIES0Hb] 2,916 3,456 AN 540
= 0l &F 1,620 3,456 A 1,836
OR0lusE ch(u BH)&Hl A X
225,000,000& +0.72% 1,620
=413 2,916) 1,620)| ( 1,296)




SN DEMEY

HH: ZNQUD OME NESHA TH(FSUDE/WERE - SRSIIE)
2% (RSA
—_ o

Selr Helg wsSHAH (ns ;) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
ORUE (N, AS2e)EY &X
405,000,000 *0.72% | ( 2,916) | ( 1,620) | ( 1,296)
HARZOHHI| &X 386, 765 392,808 A6,043
401 AI&BIZ =208 386,765 392,808 26,043
01 Al&HI 384,000 390,000 26,000
= 0 &F 384,000 390,000 A 6,000
OHAFEOI X S
12,800, 0002 *30CH 384,000
03 Al&=20Hl 2,765 2,808 A43
= 0l & 2,765 2,808 A43
OHAFEOHHI 4X S
384,000,000& *0.72% 2,765
IPHE B EXIE(UNS) &X 282,016 0 282,016
401 A&BIZ =208 282,016 0 282,016
01 Al&HI 280,000 0 280,000
= 0ff & 140,000 0 140,000
OJBHE B T X E(WMS) & X
140,000,000 = 1CH 140,000
=313 ( 280,000) | ( 140,000) | ( 140,000)
O HEE X E(WMS) & X
140,000,000 2 £ | ( 280,000) | ( 140,000) | ( 140,000)
03 Al&=204dl 2,016 0 2,016
= 0l & 1,008 0 1,008
OB E B HEXE(WMS) & X
140,000, 000 *0.72% 1,008
=313 ( 2,016) | ( 1,008) | ( 1,008)
OJteH BT X E(WMS) & X
280,000,000 *0.72% | ( 2,016) | ( 1,008)] ( 1,008)
XA X I AX 30,270 0 30,270
401 AZHIZ=20bI 30,270 0 30,270
01 AI&EHI 30,000 0 30,000
=313 ( 30,000) | ( 0)] ( 30,000)
OxXt&Ed NIl Xl 3,000,000€ =10CH |( 30,000) | ( 0)] ( 30,000)
03 Al&=0bl 270 0 270
=213 ( 270) | ( 0)| ( 270)
OXt&Ed NIl 4Xl 30,000,000 *0.90% | ( 270) | ( 0)] ( 270)
SAXA0 22 42,320 42,320 0
201  EtI| 15,200 15,200 0
01 At 2teltl 15,200 15,200 0




fa
o

EX: WEAISE I}
M ANJAD HEE NEHE XY (+sLnNE/HSNE - S FSIIE)
CHel: B2IE DNEMH 2 (REAMY) (CH<
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= O] At 15,200 15,200 0
OoB#XZ0 274l 15,200
— o3t 30,000& *20JH 600
— 359 50,000& *20 & 1,000
—EBEE 1,000& *13,000&f 13,000
— X S 20,000& 304t 600
301 ot A= 27,120 27,120 0
11 JIEIE A2 27,120 27,120 0
= 0l & 27,120 27,120 0
OB#XZ0 &5 243
20,000 *113H *123] 27,120
ol 5l 8] 4,067,672 1,778,457 2,289,215
801 ol 51 8] 4,067,672 1,778,457 2,289,215
01 < Btaldld] 4,067,672 1,778,457 2,289,215
= Ol & 3,164,473 1,778,457 1,386,016
O etil bl gl 3,164,473,000& 3,164,473
=Z13 ( 4,067,672) | ( 3,164,473)| ( 903, 199)
[@F2R:180: s ]}s]] 4,067,672,000& |( 4,067,672) | ( 3,164,473)| ( 903, 199)
MNSI| | B 453,240 603,780 A 150,540
401 AIEHIYL20iH] 453,240 603,780 A 150,540
01 Al&H| 450,000 600,000 A 150,000
= Ol & 600,000 600,000 0
Odl3zI FANES 1,200, 000& *500H A~ 600,000
=Z13 ( 450,000) | ( 600,000) | ( A 150,000)
Odl3zI FANES 1,200,000 *37500 2 | ( 450,000) | ( 600,000) A 150,000)
03 A&E820Yl 3,240 3,780 AN 540
= 0l & 3,780 3,780 0
Od3zIl FANES 600,000,000& *0.63% 3,780
=Z13 ( 3,240) | ( 3,780) | ( A540)
O3l KA 450,000,000 *0.72% | ( 3,240) | ( 3,780) | ( A540)
MSI| EX 322,304 302, 160 20,144
401 AIEHIZ201H] 322,304 302, 160 20,144
01 Al&HI| 320,000 300,000 20,000
=Z13 ( 320,000) | ( 0)|( 320,000)
O3S Il 8Xs ( 320,000) | ( 0)|( 320,000)
—ASI &R 24,000,000 1000 2~ | ( 240,000) | ( 0)|( 240,000)
—Ea8Es XHE &1
5,000,000 1600 2 | ( 80,000) | ( 0)] ( 80,000)
.




2N DSAS B
FM: AMYD HEE NEHAE ZH(>SLUE/UHELUE - ERSIIE
o HEls WSEMA 2Y (WS AHY) (&)
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
03 Al&=0Hl 2,304 2,160 144
=313 ( 2,304) 0) 2,304)
O&lzIl &X 320,000,000 *0.72% | ( 2,304) 0) 2,304)
SO AIZE EAIDI X 20,000 20,000 0
401 AZHIZ =208 20,000 20,000 0
01 A&l 20,000 20,000 0
= 0l & 20,000 20,000 0
O&HAIZE EAIDI X & 2=
400,000& *50CH 20,000
AMZEOel SIS & 30,000 30,000 0
401 AI&BIZ =208 30,000 30,000 0
01 Al&HI 30,000 30,000 0
= 0fl &F 30,000 30,000 0
OAMZEML Se4asI &X
600,000& *50CH 30,000
wnsdII MIZ 147,036 133,386 13,650
201  etg| 147,036 133,386 13,650
02 =29l 147,036 133,386 13,650
= 0l & 147,036 133,386 13,650
OnsASI ®MIZ 25,160 #4870 A +12& 147,036
EE AL (L EAY) 805,040 1,006, 300 A 201,260
CHEAN SANES 805,040 1,006, 300 A 201,260
401 A&HIZ=20bI 805,040 1,006, 300 A 201,260
01 Al&UI 800,000 1,000,000 A 200,000
= 0l & 1,000,000 1,000, 000 0
OLHEAN SXNE= 2,500, 000& *400km 1,000,000
=313 ( 800,000) 1,000,000) A 200,000)
OLHEAN RXNES 2,500,000& *320km | ( 800,000) 1,000,000) A 200,000)
03 Al&=04Hl 5,040 6,300 A 1,260
= Off & 6,300 6,300 0
OLHHEA SXNE= 1,000,000,000& *0.63% 6,300
=313 ( 5,040) 6,300) A1,260)
OLHEAN SXNE=S 800,000,000 *0.63% | ( 5,040) 6,300) A1,260)
WEMH AL (RS AH) 1,054,930 1,194,540 A 139,610
Xl 20,000
= 89,500
Al 945,430




SN

M ANJAD HEE NEHE XY (+sLnNE/HSNE - S FSIIE)

S WEMH CHEAIH(DEAY) (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
WSOHNMEX T SXNES 302, 160 302, 160 0

401 AEBIL LY 302,160 302, 160 0
01 Al&H| 300,000 300,000 0
= 0ff A 300,000 300,000 0

OQUSHEITXNE RAZ 300,000
-~ DEGHENT R4
200,000& *1,00004 2~ 200,000
— FHIUSANFRY DEHMEXNH SN
> 200,000& 50004 A~ 100,000
03 A&E=S20Yl 2,160 2,160 0
= 0f 2,160 2,160 0
OQUSHEITXNE RAE
300,000,000& *0.72% 2,160

glo] - Lo BEs3RY KIES 402,880 302,160 100,720

401 AlEHIL201H] 402,880 302, 160 100,720
01 Al&H| 400,000 300,000 100,000
= 0l & 400,000 300,000 100,000

O0gol, e 539 SXES
5,000, 000& *80IH A~ 400,000
03 A&820Yl 2,880 2,160 720
= 0l & 2,880 2,160 720
Oogol, Lo 8539 I
400,000,000 *0.72% 2,880
Helol, =82S JHAAY 129, 169 102,735 26,434

401 AEBIZL LY 129, 169 102,735 26,434
01 Al&H| 129, 169 102,000 27,169
= 0ff &F 200,000 102,000 98,000

O0Eol BEs3Y MAAE 200,000, 000& 200,000
=313 ( 129, 169) 200,000) A70,831)
Ol Es3Y &AL 129,168,240 | ( 129, 169) 200,000) AT70,831)
03 A& S0HH] 0 735 NT735
= 0ff & 1,440 735 705

ONB0l E332Y WA ALY

200,000,000& *0.72% 1,440
=&13 ( 0) 1,440) A1,440)
O0eol B39 MaAY 02 |(( 0) 1,440) A1,440)
02579 ALY 40,432 0 40,432

Xl 20,000

Al 20,432




SN

M IAUD OGNS DEBY ZH(SSLDE/UERE - S2SIIE)
SR WSHAH AL (LSAY) (o2&
SH-EH. O (AN) - NRANY - B o) ) HDE2
401 Al&HI 20| 40,432 0 40,432
Xl 20,000
Al 20,432
01 AI&EHI 40,000 0 40,000
Xl 20,000
Al 20,000
= 0l &F 40,000 0 40,000
Xl 20,000
Al 20,000
ONHEOESFYE A ALY 40,000,000& 40,000
Xl 20,000
Al 20,000
03 Al&SCHH 432 0 432
20 & 432 0 432
ONHEOESFYE A AL
40,000,000& *1.08% 432
WEALX E5FY N 180,289 0 180,289
= 89,500
Al 90,789
401 A&HIZ=20bI 180,289 0 180,289
= 89,500
Al 90,789
01 AI&EHI 179,000 0 179,000
== 89,500
Al 89,500
=218 ( 179,000) 0) 179,000)
(& 89,500) 0) 89,500)
(Al 89,500) 0) 89,500)
QusAi 25729 HAAS
179,000,000& |( 179,000) 0) 179,000)
(= 89,500) 0) 89,500)
(Al 89,500) 0) 89,500)
03 Al&=04bl 1,289 0 1,289
=313 ( 1,289) 0) 1,289)
OQuNsAN BE5729 MAAY
179,000,000 *0.72% | ( 1,289) 0) 1,289)
WEMH HLA (RSA) 348,660 233,940 114,720
= 0




A DSAHS D

FM: AMYD HEE NEHAE ZH(>SLUE/UHELUE - ERSIIE
SR WSHAH NLAAG(RSAY) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Xl 22,000
Al 326,660
QY sdH L FHIUSAN2Y KT 500 500 0
201  LBt249| 500 500 0
01 AtR2Zeltl 500 500 0
= 0l & 500 500 0
OuwEs ¥ FHM SN2 HBEA|
500 *50F *20 7 2+ 500
WEANEE X & BEx+3A 304,160 233,440 70,720
203 YR F&H 2,000 2,000 0
03 AHMFAHLSFAH 2,000 2,000 0
= Ol &t 2,000 2,000 0
OCuLEANdEE 22l I2FA 2,000,000& 2,000
401 AIZBIZ =208l 302, 160 201,440 100,720
01 Al&HI 300,000 200,000 100,000
= 0l & 300,000 200,000 100,000
OCunEANEE8 X £ Ex3AM
300,000,000 300,000
03 Al&=04tl 2,160 1,440 720
= 0ff & 2,160 1,440 720
OQuUSANEZE dX £ B3 A
300,000,000& *0.72% 2,160
WEAD 2 2 e At 44,000 0 44,000
= 0
Xl 22,000
Al 22,000
401 A&HIZ=20bI 44,000 0 44,000
= 0
Xl 22,000
Al 22,000
01 Al&HI 44,000 0 44,000
2 0
Xl 22,000
Al 22,000
=313 ( 44,000) | ( 0)] ( 44,000)
(= 0] 0]« 0
(Xl 22,000) | ( 0)] ( 22,000)
(Al 22,000) | ( 0)] ( 22,000)




SA DEANSD
HE: ZNYUD AN NS XL (+SLLE/HELE - SRSIIE)
SHel DEMA HAAY (REAY) (el &)
x s . Of &t o8 & & 0 A o -
2A-F3H-H(FH) - RN - BES (Z= o) (713 o) HusZ
OMSAD 2 R HHA  44,000,0002 |( 44,000) 0) 44,000)
(=2 0) 0) 0)
(X 22,000) 0) 22,000)
(Al 22,000) 0) 22,000)
mels DEMH 2P (REAY) 435,111 535,352 £ 100,241
HASA SZR &3 2 R 435,111 535,352 A 100,241
401 A&HILL0 435,111 535,352 A 100,241
01 Al&H] 432,000 532,000 100,000
=0 o 432,000 532,000 100,000
OH A &N S2E &3 432,000
— A SA SUR AX 300,000,000 300,000
— WAL SN SYE g2
750, 000! *80TH 4 60,000
— AL A SR FA
40,0002 35| *6007H 4 72,000
03 A&t 3,111 3,352 A 241
= 0f ot 3,111 3,352 A 241
OH A &A S2&E &3
432,000,000 *0.72% 3,111
HHSAAH(DSZ M) (IIEH/IIE) 93,904 81,884 12,020
olH AU (NSAY) 93,904 81,884 12,020
ol gy 93,904 81,884 12,020
101 oIt 93,904 81,884 12,020
02 JIEEE A 93,904 81,884 12,020
= 0f &t 87,199 81,884 5,315
ONERULYZ MBS ANALSH
IRl Q12| 28,277
—J=3(02) 1,932,00020 * 124 » 128 23,184
e 80,0002 * 12 » 128 960
~ XZPEH 105,000 * 12 *35/40% 128 1,103
— Zougay 130,000 * 12 * 122 1,560
— oiJt g Aty
1,932,000 21 *84%+86%+ 1/30%1/7% 1 *56 Al 2+ 373
—ZV224Y 6,001 1Y #1541 2122 1,097
ONERURLZ MLHUS NALEH L
X 2ER 2,904
- =003 28,277,002 *45/1,000 1,273
—Ay2E 28,277,00021+30.6/1,000 866
—LORIQABE  866,0002+65.5/1,000 57
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2A: WSASE
M HE2GFU (ST ) (JIEHIIE
thel: AE2IH (RS AY) (chel:&&)
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES (ZE o) (1= o) BlRE2
[= =] [= ]
—1E2E 28,277,000 «15/1,000 425
—MTHEE 28,277,0002 «10/1,000 283
OUSsYRdz LS AMALEHHLY
JIH ety 45,481
—Jl22(=2) 1,500,000& »2H x12& 36,000
—IEE 80,0003 x2H 128 1,920
— A g2 2| 105,000& 29 x35/40+ 128 2,205
— J Mz A 130,000& 2H 128 3,120
— HDLE2 4|
1,500,000 *84%*86%+ 1/30%1/7+2% 56 Al 2+ 578
—ZUIRY 4,604 2B x15A1 2t+123 1,658
CLUERYRES 2helsS AL
JIM 282 4,669
— =04z 45,481,0002 «45/1,000 2,047
—HLEE 45,481,000& *30.6/1,000 1,392
— LYY
1,392,000& *65.5/1,000 92
—1E2E 45,481,0002 *15/1,000 683
—&THEE 45,481,000 «10/1,000 455
OUSRYRYz 22 ANILSHMYIH
ISESh= 48,9002 30 %730/ 365*2H 5,868
=318 ( 93,904) 87,199) 6,705)
OQusseFE=s dgd2els ALY
JIHE el ( 31,166) 28,277) 2,889)
—=Jle2(0=2) 2,081,000 1€ x12& |( 24,972) 23,184) 1,788)
— S22 (0t=z) 91,750 18128 |(( 1,101) 0) 1,101)
OQussYPEa Fuels AMALEHY
JIHE ety ( 49,297) 45,481) 3,816)
—=Jl22(0=) 1,589,000 x2H « 128 | ( 38,136) 36,000) 2,136)
— SR (0t=z) 70,0003 x2Hx128 | ( 1,680) 0) 1,680)
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125 253 A CER-E
M- =8 a9 (3) - HEAY - a2 Zj) @(ijf;ﬁ% HRE2
b 8,400,722 9,443,782 A 1,043,060
QUD OtME NESHAH XML (xsLDE/HESNE 8,400,722 9,443,782 A 1,043,060
e
2SN ZE(REAMY) 170,961 212,374 AN41,413
2N 2= 112,701 154,114 N41,413
201 282 A Y| 98,301 134,314 N36,013
01 Ar®2telt] 35,569 97,864 NB2,295
= 0l & 35,569 97,864 NB2,295
ODEALUSERE DN L 282 HT 4,220
—EE= 46,000 =704 3,220
— WEHS DX Al 50 %20, 0000H 1,000
OMEEXSXH HHES R LI=HI 8,000
—=22= 200,000& *16H *13] 3,200
— gst= 200,000& x16H *13] 3,200
— =223t 100,000& x 169 13| 1,600
OALHHA SH0 e A2 ZH| 784
— B A 1,300& *4H x1003] 520
—OI2HA 1,100& 4 *603] 264
OY HFRERE & Z 2|
7,000& x10Y 72 x12& 5,880
OHANESXZ bt DElE 22IAIAE Of
& R =H| 9,000,000 9,000
ODNYAHYX MEHE XJAHIA OIS
1,320& *22024 12 3,485
Ouns=H UIMHAMSE REBLNR 2ZA
ull 150, 000& *2 Al 2tx 14 3] 4,200
02 =524l 62,732 36,450 26,282
= 0l & 62,732 36,450 26,282
O A (X2 JH0let, &I ) KXY 22,850
— S EHI 300,000& 20 = 12& 7,200
— 282 500, 000& *x5CH 2,500
- 3US(ANSIA, sFHNEREZ , =5
2, ENES) 11,150,000& 11,150
— ZHl 2l (X, 2EI], 30 e S)
2,000,000& 2,000
oRER2 29,882
— 2Bt H 300& x13,400AH 4,020
—SJ|H 1,930& *13,4004 25,862
OHAEEXZ 2elAAE SAE 24|
10,000, 000& 10,000
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SN

g AAN oINSt WESE X4 (3L UE/HEUE - 2R SIIE)
Eol: B 2AEAN ZH(REAY) (et9: @2
SH-EH. O (AN) - NRANY - B o) ) HDE2
202 4 H| 14,400 19,200 A4,800
01 =2LHA I 14,400 19,200 A 4,800
= 0l & 14,400 19,200 A4,800
QusSkNEes E2H0HY
10,000& x 128 x 10« 128 14,400
nNEEMN XA 58,260 58,260 0
307  gI2tol A 58,260 58,260 0
02 QUAHABMASEX 58,260 58,260 0
= Ol & 58,260 58,260 0
OLYE2ENE NEsEMATES AMEXH
35,000,000& 35,000
O=MHHUZ Oel0 nSHdEES ALY
A& 3,260,000& 23,260
Helst WsSHH 29 (nsSAY) 8,229,761 9,231,408 A 1,001,647
ST A2 8,159,761 9,142,508 AN982,747
308 XXSHHMSOIH 8,159,761 0 8,159,761
10 SII2SOICHSHZ & Xl At I 8,159,761 0 8,159,761
= Ol & 8,099,056 0 8,099, 056
O3gXNX L IASHA AE A
8,099, 056,000& 8,099,056
=313 ( 8,159,761) | ( 8,099,056) | ( 60,705)
O3gXAX &L IASAEA AE A
8,159,761,000& |( 8,159,761) | ( 8,099,056) | ( 60,705)
HALM OHLHEXIE X 22 70,000 88,900 A 18,900
401 AI&BIZ =208 70,000 70,000 0
01 Al&HI 70,000 70,000 0
= 0l & 70,000 70,000 0
OHALCHHHEXNE X 2 X 22
1,000, 000& 70K 2~ 70,000
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SN

= 3t

=

FH: sM Aty WEMH S (+SLWUE/HELS - ERSIIE
mE== )

el ASI EXA (S A (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
Z= XAl & ot 15,635,775 14,676,189 959,586
=M s DEMH A= (+>3LS/HENS - 278 15,635,775 14,676,189 959,586
SOIEH)
WEANSI EXAL (NSAY) 3,000 3,000 0
TteksAl2e 3,000 3,000 0
201 LBt 4| 3,000 3,000 0
02 2294l 3,000 3,000 0
=0 & 3,000 3,000 0
OXtsEs X &2l 3,000,000 =1CH 3,000
SEFNESY SHUIA(NSAY) 14,111,692 13,085,117 1,076,575
SEFIE g 14,111,692 13,085,117 1,076,575
404 SAMSHA2HEES 14,111,692 0 14,111,692
01 BAt-SEHUA2EES 14,111,692 0 14,111,692
= 0l & 14,111,692 0 14,111,692
OANd2a2| S =AY NHEHEEZ
211,173,000& 211,173
OANd2te| S =AY Z &AL I
13,900,519,000& 13,900,519
SEFNE AL (NSAY) 649, 183 1,132,472 A 483,289
=z AAEY 29 24,704 24,704 0
401 AEH2LR0Y 24,704 24,704 0
01 AI&EHI 24,704 24,704 0
= 0l & 24,704 24,704 0
O=&dl & &bl 24,704
— 38X S =EHI 700,000% x20E Xl 14,000
— 38X & &bl 240,000,000 *4 . 46% 10,704
SHX g2 =XE ZHAMY 241,728 241,728 0
401 AI&BIZ =208l 241,728 241,728 0
01 Al&HI 240,000 240,000 0
= 0l & 240,000 240,000 0
OBBNLSENE ZHAL
1,200,000& 200 240,000
03 Al&=0tl 1,728 1,728 0
= 0l & 1,728 1,728 0
OZSNEEFIUHE ZdAS
240,000,000& *0.72% 1,728
HdFZsNE SEFUE ZL3A 200,000 0 200,000
401 AI&BIZ =208l 200,000 0 200,000
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SN
X ZH -
L=

el

4
]
4>
Ok
He
EJ
O
P
Ot
EJ
O
THo
v
on
S|
m

o)
{0
]
{0

x s . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
01 A&l 200,000 0 200,000
=218 ( 200,000) | ( 0) 200,000)
OMZEsDY BYFUNE THTA
200,000,000& |( 200,000) | ( 0) 200,000)
H=T28729 NE 2,000 1,000 1,000
201  LEL2H] 2,000 1,000 1,000
01 AtR2Zeldl 2,000 1,000 1,000
= 0fl & 1,000 1,000 0
OANFXRE7Y9 XE &2 XA
500& x1002 x20+2 2+ 1,000
=218 ( 2,000) | ( 1,000) 1,000)
OHFAREFS NE S A
5003 1005 #4072 2+ | ( 2,000) | ( 1,000) 1,000)
QAFXE U= 180,751 0 180,751
201  Er2IH| 180,751 0 180,751
01 AtR2Zeldl 180,751 0 180,751
= 0fl & 180,751 0 180,751
OZA=xE gz Xa 180,751
— &2 FOHHE HE 22X U=
1,447 .4m" x3,388,000& *2.5% 122,595
—REYRY o FUHE 22X Y02
4,846,300& 123 58, 156
SEFNE S (LEAY) 640,460 304,160 336,300
SSFAE FA2e 640,460 304,160 336,300
203 YR F&HI 1,900 2,000 A 100
03 AHMZF=XHRFXH]| 1,900 2,000 A 100
= 0fl & 1,900 2,000 A 100
OZE=TE A4 & FX2el gRFEH|
1,900,000& 1,900
401 AZHIZ =208 638,560 302,160 336,400
01 Al&UI 636,400 300,000 336,400
= Off & 636,400 300,000 336,400
OZZFXE RIS AM 300,000, 000& 300,000
OFX2MEX wWH S A
54,100,000 =44 2~ 216,400
OL=CCTV AIAE WAL 120,000, 000& 120,000
03 A& =204l 2,160 2,160 0
= 0fl & 2,160 2,160 0
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SM: F=XAIE D
HM: =M gy WEMH PE(+SLDNS/HERS - SFSIIEH)
ool BEFNE A2 (RSAY) (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
OZZFXE RIS AM
300,000, 000& *0.72% 2,160
FAUFRENE RRAZE(RSAHY) 231,440 201,440 30,000
FAFE S SR 231,440 201,440 30,000
401 AEHIZ=ROUI 231,440 201,440 30,000
01 230,000 200,000 30,000
= 200,000 200,000 0
S A
25,0003 +8,000&H 200,000
= ( 230,000) 200,000) 30,000)
= Al 2el S A
25,000& *9,200%H |( 230,000) 200,000) 30,000)
03 Al&=0Hbl 1,440 1,440 0
= 0fl & 1,440 1,440 0
OFX+ad RIS AM
200,000, 000& *0.72% 1,440
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B mols nESY ZH(4SANE/UEDE - SRSIIE)
CHel: BE2IE DEMH FS(REAMY) (&9
] _ i} sy 41 0 &k o -
SA BB () - MM - BAS tiert g =t HRE2
HF o) BEED
Z= XHA & 2,697,371 1,880,460 816,911
Helg nEsd X4 (+sdnEs/Usns - 2857 2,131,515 1,481,720 649,795
)
Helgt NEMH RS (NS AHY) 281,730 231,016 50,714
SYHFE XIS ECCTV 25 175,000 231,016 N56,016
401 AlEHIZL 20| 175,000 231,016 A56,016
01 AI&HI 175,000 225,600 50,600
= 0ff &F 175,000 225,600 A 50,600
O28H=3XYs DEE CCTV =5
35,000, 0003 *5H 2~ 175,000
S8 FHI 2AIAE 2HF 14,000 0 14,000
405  XHaHF S| 14,000 0 14,000
01 NMEEEFHSHI 14,000 0 14,000
= 0f 21,000 0 21,000
O=YF=EI 2A2IAAE DBMH 25
21,000,000& 21,000
=& 13 ( 14,000) 21,000) A7,000)
OSYHF=EX 22AIAE DBAH 2=
14,000,000& |( 14,000) 21,000) A7,000)
AUSHEME HS T IXAIAE 2F 22,000 0 22,000
405  XHaHFE S| 22,000 0 22,000
01 TMMEEEFHSHI 22,000 0 22,000
= 0ff &F 22,000 0 22,000
OXNETHE Ham IAXAAE 2=
22,000,000& 22,000
=HFEX &S AoXE WX 70,730 0 70,730
405  XHAHF S 70,730 0 70,730
01 NHMLEEFSHI 70,730 0 70,730
= 0l & 70,730 0 70,730
O=Y=8X &= HAXSE WA 24|
70,730,000& = 1CH 70,730
FARSME (DS AY) 1,849,785 1,250,704 599,081
FEIL A= 1,786,357 407,420 1,378,937
101 oAbl 345,667 0 345,667
04 JIZtHZ2ZZXNSE > 345,667 0 345,667
= 0ff &F 323,157 0 323,157
OSY=8Xt &= & 0JAAY JI2HH 2
Z X el Al 255,074
P ==1 6,470 *BA| 2t x16H x22 x 112 200,415
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2M: FXAE
M. He|st nEEE XHE(+SsYLuNE/HENE - 2]SIIE)
S =EXN2HA(DEAY) (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
—F5g 6,470 x8A| 2tx16H x5+ 11& 45,549
— X =E 6,470 *BAl 2t x 16 *x 112 9,110
OSY=&8Xt ¢ & AAAY JI2HH 2
A MEAZ 30,753
P E=t=1 7803 *8A| 2tx16H x22 x 11& 24,162
—F5g 7803 *8A| 2t*16H x5+ 11& 5,492
— X EE 780 *8A| 2t x16H x11& 1,099
OS=YF=EX &= L 0N JI2tH 2
A Eg2 29,330
—=0AH3 285,824 ,0002 *45/1,000 12,863
—ALEE 285,824,000 *30.6/1,000 8,747
-
8,746,000 %65.5/1,000 573
- 188E 285,824,000 *15/1,000 4,288
—MHEE 285,824,000€ *10/1,000 2,859
OSYH=8X ¢ & QAAY JI2HH 2
Z A I =24 8,000
—=22= 200,000& «16H 3,200
— gst= 200,000& «16H 3,200
— =223t 100, 000& 16 1,600
=&13 ( 345,667) 323,157) 22,510)
OSYF=EX &= Y 0JANMNY JI2HH 2
Z A oA H| ( 273,294) 255,074) 18,220)
—-Jl23 6,470 x 16 «8A| 2t %24« 118 |( 218,635) 200,415) 18,220)
OEYH =X &= & MY JI2HH 2
S MEd= ( 32,949) 30,753) 2,196)
EAR==1 7802 x 16 *8A| 2H+24 L+ 118 | ( 26,358) 24,162) 2,196)
OSYH=8X = & OAAY JI2HH 2
gk EE€& ( 31,424) 29,330) 2,094)
—=0d3 306,243,000 *45/1,000 | ( 13,781) 12,863) 918)
—H2AEE 306,243,000 *30.6/1,000 | ( 9,372) 8,747) 625)
— Lo AeEH
9,372,000 x65.5/1,000 | ( 614) 573) 41)
- 1NE88E 306,243,000& *15/1,000 | ( 4,594) 4,288) 306)
—MHEE 306,243,000& *10/1,000 | ( 3,063) 2,859) 204)
201 A E2AY| 1,043,560 377,660 665,900
01 Ar®2telt] 64,600 29,980 34,620
= 0ff &F 64,000 29,980 34,020
OFHIUHE 323 =AM
7,000 x20H 152 « 128 25,200
OFXHdHsHH 23 AA Y S22 M 13,800
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2M: FXAE
M. He|st nEEE XHE(+SsYLuNE/HENE - 2]SIIE)
S =EXN2HA(DEAY) (CHe &)
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
— FXRIEEAEIAH HE 120& *40,0000H 4,800
— F=XRIEEA AL M A 60,000& =1508+ A 9,000
OFmENEs 2ed 1=y 14,000
—=28= 200,000& x28H 5,600
— 2t = 200,000& x28H 5,600
— 223 100,000& *28H 2,800
OFXes AIZEEHYIIH LISb] 6,000
—-—282= 200,000& =124 2,400
— gst=s 200,000& 12 2,400
— 223 100, 000& «12H 1,200
OFXHANE B2 H3AS 5,000,000& *13] 5,000
=413 ( 64,600) | ( 64,000) | ( 600)
OFXeH AIZEEHHAIIH TI=b| ( 6,600) | ( 6,000) | ( 600)
— get= 200,000 x15H |( 3,000) | ( 2,400) | ( 600)
02 33294l 978,960 347,680 631,280
= Ol & 971,680 347,680 624,000
OH=ExE HAsU2 14,500
—28a 10,000
ENE=-DN; 500,000& =10CH 5,000
- SEX 1,000, 000& *5CH 5,000
— XS XAl 4,500
ENE=-DN; 50,000& = 10CH 500
ESS=DN; 800,000 *5CH 4,000
OSHEXYE || 63,000
— A ZH| 250,000& 15 =128 45,000
— =2l bl 1,200, 000& =15CH 18,000
Osx=23d| =2y 6,000,000 6,000
OFHEUSAAE ST 2 44|
200,000 x9CH x12& 21,600
OttsE HEE L PDA SAlE 13,380
— PDA 15,0003 »13CH *12& 2,340
—SHEE 60,000& «12CH x12& 8,640
— 0ISACCTVEANLE SAE
40,000& x50 = 12& 2,400
OoRERZ 853,200
—SJ|IH 1,930& *x30,00024 x12& 694,800
— Bt H 3303 *40,00024 *12& 158,400
=Z13 ( 978,960) | ( 971,680) | ( 7,280)
O&=Z&Hdl =2/l 3,000,000& |( 3,000) | ( 6,000) | ( A3,000)
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SM: =XXE
HHM: HP|E WSS XH(+SLUS/HENE - S8SIIEH
S =XUSIMA(DEAY) (&9 & 9)
x = 7 Of] A oH & E & 0f A oH ~
EH-Z3H .42 (3H) - HEMNY - BES (FE o) (21 & M) Huns2
[= =N | [= N |
omee oge xxy == Stnet X
=2 50,000 *10CH 78 |( 3,500) 0) 3,500)
OHt£8 sic= LU ppA E4l2 ( 20, 160) 13,380) 6,780)
— PDA 30,0002 «13CH =122 | ( 4,680) 2,340) 2,340)
—OlSACCTVEXNY Y =42
45,0002 *100H «9= | ( 4,050) 2,400) 1,650)
— 2R MHHA ZHEH 2
165,0002 x62 |( 990) 0) 990)
— 2N MHIA STAIER
300,0002 «62 |( 1.800) 0) 1,800)

202  OfHl 54,480 29,760 24,720
01 2uol 54,480 29,760 24,720
=200 A 48,480 29,760 18,720

O=Fxtx 222 NT = o
10,0008 *28 % *8 2 * 12¢ 26,880
OFFEXez AIZHEHAIH o
10,0004 9% 202  12¢ 21,600
=313 ( 54,480) 48,480) 6,000)
OFFEXSS AZHEHAINM ol
(10,0002 * 102 *202 122 )+( 10,0002 *3% | ( 27,600) 21,600) 6,000)
202 x6E )

203 R FZEH| 2,000 0 2,000
03 ABMZEEAREZAH| 2,000 0 2,000
=20 At 2,000 0 2,000

OFFXHs I2F 2,000,000 2,000

401 Al&HILE0HY 26,400 0 26,400
01 A&l 26,400 0 26,400
=200 A 26,400 0 26,400

=0l = FXUZX EAID AX 26,400
—Q01S, 4325 HFEXLMEHXA

66,0002 * 10074 6,600
—EE B4 M2E HE=2XMEH XS

66,0002 * 10074 6,600
- N2 ,2Fs #F=XMEHNY

66,0002 *1007H 6.600
—NOE AANEE AR2E #HE = M

=Py 66,0002 * 10074 6,600

405 KHAHFE SH 314,250 0 314,250
01 MMLEEFESY 314,250 0 314,250
=20 At 211,750 0 211,750
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M FXAE B
Y HEls WsEE 24 (xsLusS/Usns - 28SIIE)
SR X2 (LS ALY) (&9 & &)
] _ i} sy 41 0 &k o -
SA BB () - MM - BAS tiert g =t HRE2
HF o) BEED
OFdHY USHHAAE SMSHMHIA AIAE
=1 124,750,000 124,750
OFXtesxte 2 30,000,000 = 1CH 30,000
OXNSEMNM SHFEUESE St 2
35,000, 000& = 1CH 35,000
OFXHH=ZE PDA 7 1,500,000& = 13CH 19,500
O=F=x «=J1¢458 Jtet 7+
250,000& =10CH 2,500
=413 ( 314,250) | ( 211,750) | ( 102,500)
OXNSENM S HFEFXUHEE It 2
35,000, 000& =404 |( 140,000) | ( 35,000) | ( 105,000)
O=x «=J1¢458 Jttet ¢ 03 |( 0)]( 2,500)] ( A 2,500)
lEle 2UE 63,428 383,036 A 319,608
201 2Et249Y| 60,548 381,836 A 321,288
01 A2yl 37,648 25,800 11,848
= 0l & 49,448 25,800 23,648
OZel e Sl 9,600
—2HEYH ¥ =d 400,000 *4Z *33| 4,800
—ANFITeH) EYH ¥ &
400,000& =124 4,800
OIIAAMANE =2 80& *11,30021 =122 10,848
ONEIE 24 248
500,000, 000& *3/100 15,000
OUgA Sil=== 1,000& 3,200 3,200
O2YF=EX QA= MAMxY 10,800
— 2A12F Ol LK 70,000 *3H «33| x12& 7,560
—2AI2H =1 30,000& *3H 33| «12& 3,240
=313 ( 37,648) | ( 49,448) | ( A 11,800)
OZegle |l ( 6,400) | ( 9,600) ] ( A 3,200)
—HHEY € = 400,000 x4=%23] |( 3,200) | ( 4,800)] ( A1,600)
—NHITEHI) EYH & £
400,000 «8H | ( 3,200) | ( 4,800)] ( A 1,600)
OXEIE = =2
270,000, 000& *3/100 | ( 8,100) | ( 15,000) | ( A6,900)
OUgd Sil+==x2 1,000& «1,50021 |( 1,500) | ( 3,200) | ( A 1,700)
02 32294l 22,900 356,036 338,136
= 0ff &F 33,900 356,036 N 322,136
O&dl 4=l (RHEEEI|, DHIZEEHI|)
450,000& *x23] 900
OFFXRE ST )8 RALE |
2,750,000& x12& 33,000
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S =X
M mHe
=Xt

el

o)
4
[pal
o

CEB .G (B) - HEAMY - B2 (ggz::) @fjfgm;ﬁ% =2
=&13 ( 22,900) 33,900) A 11,000)
OFHXE ttsT 22 SAE 24|
2,200,000 102 |( 22,000) 33,000) A 11,000)
202 04| 2,880 1,200 1,680
01 =2 2,880 1,200 1,680
= 0ff & 4,320 1,200 3,120
OIS H g 2el AMAASMAINM oyl
10,000& x3H x 12 x12& 4,320
=&13 ( 2,880) 4,320) A1,440)
OIS 2el AIZFAEEHAIH Yl
10,0002 2«12 x 122 | ( 2,880) 4,320) A 1,440)
HESHAY| (=XR ) (DIEH/DIE) 550,856 391,440 159,416
OIHESAY|(WEANY) 550,856 391,440 159,416
A2 AY| 550,856 218,791 332,065
1 ol 24 H| 550,856 218,791 332,065
02 JIEtEE 398,172 171,757 226,415
= 0ff &F 327,784 171,757 156,027
OFHXEE AMAHAEHAIM SR 2l
21| 216,766
—-JI22(0t2) 1,533,000& 9 128 165,564
—IELE 60,000 *9H x12& 6,480
— NESHHIEX S 450,000 *3Y *43| 5,400
— A g8 XY
105,000 *35/40A1 2+ x99 x 128 9,923
— HHZAH| 130,000 x9Y »12& 14,040
— I8 A&t
1,533,000 *84%*86%*1/30%1/7+9% 56 Al 2+ 2,658
—x2U2R2EY 4,200 9 *28A| 2tx12& 12,701
OFHXEE AMAHAEHLIM 2 2
== 22,244
—=0d3 216,766,000& *45/1,000 9,755
—2HLEE 216,766,0002 *30.6/1,000 6,634
— Lo H
6,634,000 *65.5/1,000 435
- 1NE8E 216,766,000 *15/1,000 3,252
—AMEE 216,766,000& x10/1,000 2,168
Ol E2el AMAEABMAIIM 2
ol A H| 80,511
- Jl23((0t=2) 1,825,950 x3H »12& 65,735
- s 60,000 3% x 128 2,160
— A3 E X H| 105,000€ x35/40%x3H 128 3,308
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SN

=N E
HM: HHSHAH (=X (IIEH/IIE)
S QESAH (WS ALY) (&9 & 9)
x = 7 Of] A oH & E & 0f A oH ~
EH-Z3H .42 (3H) - HEMNY - BES (FE o) (21 & M) Huns2
[= =N | [= N |
— MM Z Al 130,0002 x3H 122 4,680
— ¢t At
1,825,950 2 #84%*86%+*1/30%1/7+3H x56 Al 2t 1,056
—ZU2RLY 4,960 204 23 <128 3,572
ONEHEME 2 AZEHSRUIH 222
282 8,263
— 20432 80,511,000 *45/1,000 3,623
—ALBE 80,511,000 *30.6/1,000 2,464
— Lo QU
2,464,000 *65.5/1,000 162
—ATHEE 80,511,000 «10/1,000 806
- 128 80,511,000 «15/1,000 1,208
=218 ( 398, 172) 327,784) 70,388)
OFHXCE AIZHEHAIH 222 0
2 ( 303,397) 216,766) 86,631)
- J|122(013)
1,602,000 x 10 « 122 +1,388, 5002 *3H %6 | ( 217,233) 165,564) 51,669)
2
—ExNRPAC
70,0002 * 10 * 122470, 0002 x3H 62 | ( 9,660) 0) 9,660)
- =y
60,0002 * 102 « 122 +60, 0002 *3H 62 | ( 8,280) 6,480) 1,800)
— ZZ XY
125,000 *35/40 A1 2t %102 122 +125, 0002 | ( 15,094) 9,923) 5,171)
*
35/40A1 2t +3 +6 2
— JHZ A
130,000 * 102 * 122 +130, 0002 *3% x6 2 | ( 17,940) 14,040) 3,900)
— ¢t At
1,602,0009! %84%*86%+*1/30%1/7+10Z %56 Al |( 3,087) 2,658) 429)
2+
—xn2Rsg
4,3002 x 10 *45 Al 2t « 122 +4, 3002 *3% *45 | ( 26,703) 12,701) 14,002)
Al 262
OFFHXCE AZHEHAIK 22 2
== ( 31,131) 22,244) 8,887)
—20¢3 303,397,000€ 45/1,000 | ( 13,653) 9,755) 3,898)
—AABE 303,397,000% %30.6/1,000 | ( 9,284) 6,634) 2,650)
— Lo QU E
9,284,000 *65.5/1,000 | ( 609) 435) 174)
- 128F 303,397,00024 *15/1,000 | ( 4,551) 3,252) 1,299)
— AT E 303,397,00024 10/ 1,000 | ( 3,034) 2,168) 866)
ONEHEME 2 AZHeUeIH 222
oI 24| ( 57,719) 80,511) A22,792)
—J|23(0t3) 1,903,000 x22 %122 |( 45,672) 65,735) A20,063)
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2M: FXAE
Mz HMSAHH (=X )(IIEH/DIIE
cro: o2 ot (BEAY) (29 ma)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
—EXERY 70,000& x2H x 128 1,680) 0) 1,680)
—JIEx=g 60,000 x2H x12& 1,440) 2,160) AT20)
— A3 E x| 125,000 *35/40%x2H = 12& 2,625) 3,308) A 683)
— HHGZAH| 130,000& x2H x12& 3,120) 4,680) A1,560)
— I E At
1,903,000 *84%*86%*1/30%1/7+2H 56 Al 2+ 734) 1,056) A322)
—XZU2FRY 5,100& *20A| 2t*x2H x12& 2,448) 3,572) A1,124)
OS2 AIZEEHAINH 22
282 5,925) 8,263) A2,338)
—=0AH3 57,719,000 *45/1,000 2,598) 3,623) A 1,025)
—ALEE 57,719,000 *30.6/1,000 1,767) 2,464) AB697)
— Lo AEH
1,767,000 %65.5/1,000 116) 162) A46)
—MHEE 57,719,000& x10/1,000 578) 806) A 228)
- 1188d 57,719,000& *x15/1,000 866) 1,208) A 342)
03 RIAHALZZXHE = 152,684 47,034 105,650
= Ol & 96,306 47,034 49,272
OFEXHE SF2 0124| 86,343
i E==1
2,578,600 *1H x12& +2,455,240x 15 »12& 60,407
— 3&EF0tYl
1,289,300 *1H %x23|+1,227,620& x 1 23| 5,034
— I E AHH|
96,320& *1H 102 +91,920 x 1H «10L 1,883
—AZ2tA2ZRY
18,060 x 1 *33Al 2t *x 128 +17, 240 x1H %3 13,979
/\|DJ*12=°§3
- s 80,000& x2H x12& 1,920
— JHZAH| 130,000& x2H x12& 3,120
OFdEXNHE B2 B8€a 8,863
—=30dH3 86,343,000& *45/1,000 3,886
—HLEE 86,343,000& x30.6/1,000 2,643
— Lo RAeEH
2,643,000 *65.5/1,000 174
—MHEE 86,343,000& 10/ 1,000 864
- 18EE 86,343,000& x15/1,000 1,296
OFdXHE 2 I=H| 1,000
—=22= 200,000& *x2H 400
— gst= 200,000& *2H 400
— 223 100,000& »2H 200




SN EXNE D
Ha: HISYAH (EXNXCSD)(IIEHIIE)
Sl oIS AH (RSAY) (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES (ZE o) (3] o) BlRE2
[= =] [= ]
OFFXS ZLA MS A
50,0008 *2% *13] 100
=213l ( 52,684) 96,306) 56,378)
OFFAC: BLH oA ( 67,725) 86,343) ~18.618)
-Jl=23
(2,578,600% 1%+ 128 )+(2,455, 24021 +1% | ( 45,675) 60,407) A14,732)
*
62 )
— YR B
(1,289,300% 12 *13] )+(1,243,080% * 12 | ( 3,776) 5,034) A1,258)
2
8l
— oot Al
(97,3602 1 +102 )+(92, 9602 * 1% 102 ) |( 1,904) 1,883) 21)
—NLRRLY
(18,2602 1% +35A1 24 %122 )+(17,43021 *1 | ( 11,330) 13,979) ~2,649)
=
*35A1 246 )
OFFACs ZLH 282 ( 6,951) 8,863) A1,912)
— =003 67,725,000 %45/1,000 | ( 3,048) 3,886) £.838)
— YRy 67,725,0002 30.6/1,000 | ( 2,073) 2,643) A570)
—LoEII QAT
2,073,000 +65.5/1,000 |( 136) 174) £38)
— U 67,725,0002%10/1,000 | ( 678) 864) A186)
~- 1828 67,725,0002 %15/1,000 | ( 1,016) 1,296) £.280)
OFFACz BRI I=H) ( 800) 1,000) £.200)
—gats 200,000%! 1% | ( 200) 400) £.200)
OFFAES ZLH S A
60,0008 *2% 13l | ( 120) 100) 20)
OFBAEs BLN X3
4,000, 0009 +4,6532 /3652 *150% | ( 76,488) 0) 76,488)
OSI=ET S ( 600) 0) 600)
~ZRH Y PUE 6000002 *1 | ( 600) 0) 600)
WRES(FAUEH) (+3LDE/HERS - 285 15,000 7,300 7,700
EH)
SENS(RSAY) 15,000 7,300 7,700
e 15,000 800 14,200
802 BrE2IIE 15,000 800 14,200
03 BRUIS 15,000 800 14,200
=0 & 15,000 800 14,200
OFHXSALVBENS B2 823
3,000,000, 000! *0.5/100 15,000
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